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Let's support to have
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following expected
process
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To test it..

An example of the
associated Event Log
(with some additional
attributes)

[s] Event Date Priority LINAC Sex Age Hospital Stop_Reason
1 | Diagnosis 2001-01-02 2 VE Male 79 2
1 AT Start 2001-01-12 2 VE Mala 75 2
1 | Technical Suspension | 2001-01-30 2 VE Male 79 2
1 cClinical Suspension 2001-03-01 2 | VE Mala 75 z
1 AT End 2001-03-07 2 VE Male 75 2
2 Diagnoesis 2001-01-05 1/|CY Male 4z 2
2 AT Start 2001-01-03 1 CY Male 43 2
2 | Technical Suspension | 2001-01-24 1|CY Male 42 2
2 | Clinical Suspension 2001-02-09 1/CY Mala 42 2
2 AT End 2001-02-18 1 CY Male 4z 2
3 Diagnosis 2001-01-04 2 CY Male 21 1
3 | AT Start 2001-01-12 2 cy Male 21 1
3 | Technical Suspension | 2001-01-29 2 CY Male 21 1
3 | Clinical Suspension 2001-02-23 2. CY Male 21 1
3 AT End 2001-03-10 2 CY Mala 21 1
4 Diagnesis 2001-01-04 1 Y Female ) z
4 AT Start 2001-01-12 1 CY Femazle 6% 2
4 AT End 2001-02-01 1 CY Female a% 2
5 | Diagnesis 2001-01-02 4 VE Male 22 2
5 AT Start 2001-01-16 4 | VE Mala 22 2
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